A ffresco-Heath g.com
_|8EEnam-Gb



Alfresco-Heating.com

888-Warm-Glo

INFRARED
DYNAMICS

manufacturers of gas infra-red equipment
3830 Prospect Avenue

Yorba Lindo, Caolifornia 92886 USA
Phone (714) 572-4050

Mounting Kit for S

UNPAK Heater

Parts List

fus

ltem Painted Stainless |QTY Description
1 32043 32043-2 2 Ber, 1/2 x 1 Channel, 21-5/16"L
2 70007 70007-2 6 Bolt, 3/8—16 x 3/4 Square Head
3 70013 70013-2 3 Wosher, 3/8 Lock
4 70059 70059-2 6 Nut, 3/8-16 ZINC
5 320413 32041-2 2 Brocket, S Hecter
6 70061 70061-2 4 Screw, 1/4-20 x 1/2
7 71023 71023-2 | & Nut, 1/4-20
8 32042 32042-2 2 Brocket, S Wail
9 70060 70060-2 4 Bolt, 1/4 x 1-1/4"L Log
CUT BAR LENGTHS FIG. 1
6 i0o {0 (010 HE) [ Q Q@
[ |8 3/41—NO. 525 CELING-HORZ—
11 3/41L —N0. S25 WALL MIG-30°ANGLE—
NQ. S34 WAL MTC-30°ANGLE
—— 12 3/41—N0. SH4 CEIM—!PMZM MTC—
_NO. 525 OR S} FACW MTG-30°
=15 J/4L NO. 525 CELING MTG-30"MNGLE—
—— 16 3/47L NO. 525 WALL MTG-HORIZONA—
——18 5/16°L NO. 525 FACA MTG- i
19 3/47L NO. S34 CELING NTG-30MGLE—
—— 21 5/16°L 0. 534 WALL OR FACA MTG-30°ANGLE—
DISCARD THIS PIECE 3/8 BOLT AND NuT L_FIG 2

WITH CLOSE HOLE SPACING

-l?-_!_‘_ /—USE SECOND BAR AS GUIDE

Freerer e == _';m_”:_ﬁ"_'.f::.":.?"
HACKSAW MEASURED
CUT HERE —T1—BAR LENGTH
REQUIRED
(SEE CHART)
Form Neo. 60017-7 6/00 Copyright (c) 2000 Infrored Dynomics, Inc

Printed in U.S.A.




	SunPak Mounting Bracket Black
	SunPak Stock Mounting Kit Diagram



